(3) 1209/(Set : B)
Part - B : Analysis of Financial Statements.<

o
Part - C : Computerized Accounting. <r

. : =
(i) Part — A is compulsory. Candidates have:to attempt any one part from
Part — B and Part - C of their choice. %

(i) All questions are to be attempted.

(iv) Question Nos. 1 to 10 and 23 to 27 are objective type questions. Each
question carries 1 mark.

(v) Question Nos. 11 to 15 and 28 are very short answer type questions. Each
question carries 2 marks.

(vi) Question Nos. 16 to 20 and 29 are shog_!j. answer type questions. Each
question carries 3 marks. .=

o :
(vii) Question Nos. 21, 22 and 30 are long answcs;r type questions. Each question
carries 5 marks. m

(viii) An internal choice is available in some questions. You have to attempt only
one of the given choice in such questions.

HRT - |
PART - A [M. M. : 45
(e BRIk wufEt & ferg daie)

(Accounting for Partnership Firms & Companies)

1. 9EER 3 EHY ¥eY W iy # AR -3 @1 § e o B ?

(A) T e S O Ew & czw
(B) FEHT TeU FA I TEER B G @ F - g
(©) 9 wderd B O @m & o
(D) ®HX & @d |
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e (4) 1209/(Set : B)

To which account is the amwnt of goodwill credited in case of the retirement of

a partner ?
P er H

(A) In the capital account oggll the partners

(B) In the capital account of the retiring partner
(C) In the capital account of remaining partners
(D) In the account of the go@brn'ment

Z-H@mﬁmwmw%wwmmﬁzﬁ?mmmw%? 1
) TGN @ (B) WERR F FT @
‘C) TS @ (D) &R & §f @

In
case of dissolution of a partnership firm, which of the following Account is
created at last ?

(A) Realisation Account (B) Partners' Loan Account

(C) Cash Account (D) Partners' Capital Account

3. @Wﬁm%ﬁq@rm,oo,ooowmﬁm H@mﬁﬁa@%wﬁmwmﬁm:

(A) % 12,000 ' (B) 1,200
(C) %6,000 (D) % 24,000

A partner gave a loan of 2;300 000 to the f1rm In the absence of partnership
deed, the amount of interest e;n loan will be ¢

(A) 712,000 (B) % 1,200
(C) %6,000 (D) ¥ 24,000

4. B § A -0 T aT-aT R A 7 R o 7 1
A) - HIERR F a5 (B) e W '
(C) WERR & RU T 0 [ & (D) FERR H B

35"'“'
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(5) 1209/(Set : B)

Which of the following items is not rccordcag‘\in the Profit and Loss Appropriation
-

Account ? ()
(A) Partner's salary (B) Inte;ufgsl on Drawing
(C) Interest on Partner's Loan (D) Partner's commission
5. T ..o A T AT 2 =k 1
Capital Reserve is created out of ............ pr%ﬁt.
6.RQWW:W{A)WW(R}%MU@WWWWWﬁi 1

BT (A) : “HRRR H qe F R @ w© aget @n § e ¢ Rar s e

FROT (R) : “HRRER # oot & o ™ #7 SR w3 Fo $ w9 F A A9 @,
aieh 3d w@d AEER § Riw 1T wO B w9 F A S 8

faeneq - |

(A) STEEE (A) 3R FROT (R) A1 €81 § @R &R (R), AR (A) H & HROT B

(B) SR (A) 3R FROT (R) T G980 ¥, A BROT (R), AT (A) F FE BT TE B

a4

(C) Faa A¥FIA (A) TE 2

(D) AREFIT (A) ST BT (R) ATl @ 2

On the basis of given Statements : Assertion (A) & Reason (R), choosc the
correct option : '

Assertion (A) : "Loan from wife of partner is transferred to Realisation A/c."

Reason (R) : "Loan from wife of a partner issnot treated as a third party loan but
it is treated like a loan from pastner himself."

Option : | S _

(A) Both Asscrtion (A) and Reason (R) are %)rrect and Reason (R) is the correct
reason of Assertion (A).

(B) Both Asscrtion (A) and Reason (R) are correct, but Reason (R) is not the
correct reason of Assertion (A).

(C) Only Asscrtion (A) is correct.

(D) Both Asscrtion (A) and Reason (R) are incorrect.

1209/(Set : B) *“;ﬁ P.T.O
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(6) 1209/(Set : B)
7. S B - & oy F g ¥ 1

'q‘

What do you understand by over-subScription of shares ?
LS
()

8. ‘GREsie T & . e § 7 § 1

What is g 'Convertible Debenture' ?

9. ﬁuwmﬁ:wﬁmm}www%mﬁﬁﬁﬁmﬂw%ﬂ: 1
W(Al:“ﬂawﬁwmaﬁaaﬁr%aagﬂaﬁwwmw%w
FICT (R) : “ AR & 0397 & o oo w8 denfy amagas )7
faeey s
(A) W(A)@TW(R)ﬁﬂﬁ%ﬁﬁtwm],aﬁ%ﬂ?(mw@w%l
(B) aﬁw(A)aﬂrw(R)ﬁﬂaﬁiﬁﬁﬁm(m,amwmmaawaﬁ%r
(C) a9 HR (R) &1 & -

(D) SR (A) R FROT (R) 391 T

On the basis of given Statements - Assertion (A) & Reason (R), choose¢ the
correct option :
Assertion (A) : "Revaluation A/c is made when new partner is admitted."

Reason (R) : "Consent of all partners is required for the admission of a new
partner.”
Option :
(A) Both Asscrtion (A) and Reason (5) are correct and Reason (R) is the correct
reason of Assertion (A). 2}
(B) Both Asscrtion (A) and Reason&R} are correct, but Reason (R) is not the
o

correct reason of Assertion (A). %

(C) Only Reason (R) is correct.
(D) Both Asscrtion (A) and Reason (R) are incorrect.

1209/(Set : B) g’gg
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() - 1209/(Set : B)
10. 0 & & Ruest & @y, ﬂﬁﬁéﬁ@mwﬁ Hofa A 8, @ 39 TGS T B e

e 7 ferar s 1
~

At the time of dissolution of a firm, i partner takes an assct of the firm, it will

be recorded in the ............ sidc of Realisation A/c.

11. A AR AT 0 apaerg F a@Ew ¥ S W A 5 033 emud F e T A @w A 1/7
m%quﬁrwwm%mﬁwm%awm@m4 2 : 1 &M
Afed SR AT H @ STu o EF'!:D e
Rohit and Mohit are partners in a flr% sharing profits in the ratio of 5 : 3. They
admit Bijoy as a new partner for 1/7 share in the profit. The new profit sharing
ratio will be 4 : 2 : 1. Calculate the sacrificing ratio of Rohit and Mohit.

12. TF TR $9 & §Fte fh-fe qamel § & goar & 7 | 2

Mention the occasions of the reconstitution of a partnership firm.,

13. T%H, 99% AR G99 TH BH A 5:4 @1 F U H @EER & 31 A6, 2017 H g 4
% fo@ & & &9 1,00,000 94 911 30 I[A, 2017 & 99F K Jog & T3 gHA A a9
I g § @ B TEE w9 F ded @ g fEn 1 oBia & 30 5H, 2017 9% # a@y
3w dus & @y B RE A AT B H B Ru 9 T W B 39 B B R
AEET GH A gEIH # onavasw Sa dfafte o & 2

Bakul, Champak and Darshan wcregpartncrs in a firm sharing profits in the
ratio of 5 : 4 : 1. The profit of the ﬁrgq for the year ending on March 31, 2017
was Rs.1,00,000. Champak died on J@ne 30, 2017. Bakul and Darshan decided
to share profits cqually in future. Cgfculatc Champak's share of profit for the
period of April 1 to Junc 30, 2017. Also pass thc nceessary journal cntry in the
books of partnership firm for this sharc of profit to Champak.

1209/(Set : B) g PIT-O

Download from www.MsEducationTv.com



8 1209/(Set :
Hgd[
OR
R §E F o 3, B & ddi R :
ol

) T | am

(i) 9 R &f &1 Tear
(iil) BT W e

(iv) ¥BRR & 3=

In the absence of partnership deed, specify the rules related to -

() Interest on capital

B2104

(i)  Sharing of Profits and Losses

(iii) Interest on drawings

B21049

(iv) Salary to partner

Huft @rar W |
........... q !
(dafy =t )
R @ e |
........... i S |
........... 3 S |
(e shifrr qx S ) o

ﬁwwﬁﬁmmaﬁﬁwﬁf&zﬁaﬁgﬁﬁ:
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(9) 1209/(Set : B)

In case of issue of d_cbehturcs for consideration other than Cash, following
journal entry will be passed :

Assets A/c Dr.

(Asset purchascd)

BZ210494

Vendor's A/c Dr.

(Debentures issucd at premium)

Complct¢ abovc journal entries by filling the tFanks.

aeEr
OR

B2104

5]

a&ﬁ%m%maﬁaqﬁ&ﬁﬁqqﬁmm%soﬁoaﬁw100"60211%300
e 1 &1 R T e sfer wEed oY S e o 2

Write down the journal entry for forfeiture of shares if 300 shares of Rs. 100

each have becn forfeited on non-payment of Final Call of Rs. 30 per sharec.
Shares were issued at par.

15. R o9 ¥ 39 41 995 § ¢

2
What do you understand by Partnership Deed ?
_ <t
16. TP UM qU 9 Wi STgard &l o B2 < 3
Give a comparison of Sacrlﬁcmg Ratio and Gaﬁmg Ratio.
17.a@mﬁrﬁc&%ﬁw¢rﬁuﬁmﬁr%ﬁmwﬁm| 3

State the order of settlement of accounts in case of dissolution of a partnership
firm.

1209/(Set : B) @ P.T.O.
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O (10) 1209/(Set : B)
18. 3% U Hogy % o TaRy <
Differentiate between Sharg and Debenture.
(@)
g YT
—
551 OR
Frefofea & Rio ot SRk ¢ g
(i) IﬁOO Bo T W 1,00,000 Bo F 9% FOGH N W PR O T @
NIBEie] = ‘
o

. 'q-'
(i) 100 %o ¥¥% W 1,00,400 Fo & 9% Forg FHI W Frifim, afe 5% & My
T s SR

(ii) 100 o 5IF W 1,00,000 To F 9% FvGH 5% & Hiftw @ Frif@, 5% 3 Hvwy
W e

Give Journal Entries for the foi]cm'ving :

() Issue of Rs. 1,00,000, 9% dcbentures of Rs. 100 cach at par and
redeemablc at par.

(ii) Issue of Rs. 1,00,000, 9% debentures of Rs. 100 each at par but repayable
at a premium of 5%. |

(iii) Issue of Rs. 1,00,000, 9% debentures of Rs. 100 each at premium of 5%
redeemablc at premium of 5%.

19. Rfe 5o & o0 & Areaw, e o afitem, 2013 % qea o B o e 3

-

0
Discuss the various types of shares, which can be issued under the Companics
: > a
Act, 2013, g
1209/(Set : B) A




(11) 1209/(Set : B)
F T BN A 9§ F ARy R} o1 Aftere sw@ @ R 31 A, 2020

T T wR Y N P R Yehs R 7 @
mﬁa"euwmﬁmﬁ,qﬁmﬂgqﬁmﬁlm%: 3

(i) aﬁwﬁqéﬁa?rsgamﬁm&ooomﬁwﬁna
(ii) qﬁaﬂ%mm%%aﬁﬁs,ooomﬁﬁuﬁrﬁ%ﬁﬂéal

(i) AR FERA W W A 1, 2010 @ 12,000 TR AR 31 S, 2020 A
6,000 E93|

John Ibrahim, a partner in Modern Tours and Travels withdrew money during
the year ending March 31, 2020 from his capital accqunt, for his personal use.

Calculate interest on drawings in each of the foIlowi% alternative situations, if

rate of interest is 9 per cent per annum : @)

- . ‘_1
(i) If he withdrew Rs. 3,000 per month at the beginning of the month.
(11)

M
If an amount of Rs. 3,000 was withdrawn by him at the end of each month.

B

(iii) If the amounts withdrawn were : Rs. 12,000 on June 01,2019 and Rs. 6,000
on January 31, 2020.

21. FEEE § 7U gEER 3 g @ Rafy § wnfy & J@iwT @ @ [ @ arer #6005

Explain various.methods for the treatment of goodwill in case of the admission

of a new partner specifying the required journal entries.

GLEN
OR

0494

: —
T w odr @ g e § B S 31.12.2016 ﬁg@aﬁmﬁmw@%a ‘@
AR A 213 omua & @ ol @l W FW T
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“ 23 1209/(Set - R
2 Io-0 31 91d, 2016
S
A S R ) i ty
[ Ry N 10,000 | &R e
M
SECARS 58,000 | ¥ # g
TR = 2,000 | fafgy 3ew
TR < wiH
iyt m
T 1,80,000 e
T 1,50,000 S 3,30,000
g T 1,00,000
. - 1,50,000
4,00,000 4,00,000
.-ﬁ"-i! EJ:T 2

() G awF1/4 w%mmiﬁﬂ%mﬁ 1,00,000 %o 3R =fy & oy R
Z &7 ¥ 60,000 o |

(i) F9= # g 1,20,00030%%@%%@?%%@ 10% g Sy &)

(iti) =% F 759 4,000 599 a1 gy

(iv) W%Sf'()méﬁm;%ﬂwﬁ%aﬁ%%Qmﬁwmm%l
) 1,000 70 & et R T

T, e 0 R o o o 43 e B

Given below is the Balance Sheet of 'A’
business on 31.12.2016. 'A'

5

and 'B', who are carrying on partnership
and 'B' share profits and losses in the ratio of 2: 1

1209/(Set : B)
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| (13) 1209/(Set . B)
Balance Sheet as at 1@}1rch 31, 2016 .

Liabilities Amount (Rs.) O Assets Amount (Rs.)
Bills Payable 10,000 |¢ash in Hand 10,000
Creditors 58,000 [ash at Bank 40,000
Outstanding Expenses 2,000 | Sundry Debtors - 60,000
Capitals : Stock 40,000
'A'  1,80,000 <f
'B'  1,50,000 3,30,000 |
Slant , 1,00,000
%uildings 1,50,000
4,00,000 | ___4,00,000
'C' is admitted as a partner on the date of the balance sheet on the following
terms : '

(i) 'C' will bring in Rs. 1,00,000 as his capital and Rs. 60,000 as his share of
goodwill for 1/4 share in the profits. '

H
(ii) Plant is to be appreciated to Rs. 1,20,000 and the value of buildings is to be
appreciated by 10%.

(iii) Stock is found over valued by Rs. 4,000.
(iv) A provis'ion for bad and doubtful debts is to be created at 5% of debtors.
(v) Credi'tors were unrecorded to the extent of Rs. 1,000.

Prepare the Recvaluation Account, Partn%;s' Capital Accounts and the Balance
Sheet of firm. o)

' } <
22. 1 S, 2015@‘@’%&23%%%&%%20@%50,000%%125@;@
a7 X S Brw A 39 YR 34 9 N :

T W s o (2 By A W), O
A [ 4 5, AR
1 9, 2015 & @ X A TR

1209/(Set : B) B - P.T.O.
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A 10 wRad 2015 @ & & @ F ﬁﬁara@am'zooooshﬁ%maﬁaq
§QalWaarﬁﬁ@woooa@m@mﬁnweﬁ'wwoomm“%‘fﬂﬁf
T T, e 9 e 16wﬂ;\120152€rmﬂun

soow%mﬁmmmallqé 2015 # 3 P B T & R
¥ 500 I A 29 Ridar, 2015 F o=y T frw T A 1 AR, 2015 B8 TR iy
ﬂmwgﬁgﬁm%wﬁﬁﬂﬁmﬂmvm |

W%%Wmsﬂqﬁwwaﬁm%’: | |
W’%ﬁﬁﬁﬁ%ﬁ%ﬁ%ﬁ%mmmﬁr 5

On January 1, 2015, the Dlrectcﬁ:’ of 'X' Ltd. issued for public SUbSCI‘lptlon
50,000 equity shares of Rs. 10 eac}a\p.t Rs. 12 per share. These were payable as :

A
Rs. 5 on application (including premium of Rs. 2),
Rs. 4 on allotment, and '

The balance on call on May 1, .2015.

The lists were closed on February 10, 2015 by which date applications for
70,000 shares were received. Of the cash received Rs. 40,000 was returned and
Rs. 60,000 was applied to the amount due on allotment, the balance of which
was paid on Fcbruary 16,2015,

All the shareholders paid the call due on May 1, 2015 with the exception of an
allottee of 500 shares. These 500 Qhares were forfeited on September 29, 2015
and reissued as fully paid at Rs. 8 E_n;:r share on November 1, 2015.

The company, as a matter of pgllcy, does not maintain a calls-in-arrears
account. )

Give journal entries to record these share capital transactions in the books of 'X'
Ltd.

 1200/(Set : B) | %ﬂ
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24.

(15) 1209/(Set : B)
2 SILEl ;
3} OR
(a) ;ﬂ@ﬁwmﬁm@mmmmmﬁmwmmm
I N 3

. m . :
Describe the purposes for which a company can use the amount of
Securities Premium.

(b) I T H W & Y R R e A F g T R T B A B 2

. State clearly the condit@ns under which a company can issue shares at a

discount. =
o
=
o A =9 :
PART - B (MM 15

( i ferett &1 fagayo)
(Analysis of Financial Statements)

R R 3 B0 & @ & oRe R | 1

Write the two objcctives of preparing Financial Statements.

AL
ﬁqwm:eﬁwm)wwm}%aﬂmmwmwmaﬁ: 1
AR (A) : TR STUE & Hed g7 AW 78 ¥ f6 3 el R (Sl Ree) @ fig

@%l” |
W(R):"a@a@mmaﬁﬁa@vﬁ%1_%&%@%@3@/@%@%@?@\
afEt ¥ aER N B 39 AT ST Hhal 81 FE, $EH SEM # BTG
fRar ST @ 817

e

(A) aqﬁmmr(A)a:‘rhw(R)%ﬁfaﬁ%aﬁwm),mm)waﬁw%l
B) s (o) SR FT (R) A w@ B, AT BT (R), S (A) F G IO T 2
(C) Pae HRYT (R) el Bl m

(D) s (A) ol FROT (R) & TTed &I

1209/(Set : B) o PITYO.

Y
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(16) 1209/(Set : B)

On the basis of given statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : "The biggest drawback of Liquidity ratios is that these are Open
to Window Dressing."

Reason (R) : "Current Ratjo O;Quick Ratio of more than 1 can be improved by

cqual decrease §1 current/quick assets and current liabiliticg,

Therefore, it can %hsily be manipulated.”
Option :

(A)  Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
réason of Assertion (A)-

B :
(B) Both Asscrtion (A) and Reason (R) are correct, but Reason (R) is not the
correct reason of Assertion (A).

(C) On_ly Reason (R) is correc‘g\

) <t
(D) Both Asscrtion (A) and R@on (R) are incorrect .

N
m

25. %ﬁﬁ%ﬁammmﬁwﬁmﬁﬁ%-mm“wm”sﬁ%%maﬁ

(A) SR T |
(B) eminqmﬁra

(C) =FE # i (g)

(D) HEg Fraas

Which of the following item does not appéar under the head "Current Liabilitics"
while making a Company's Balance Sheet ?
o

(A) Trade Payables g

(B) Other Current Liabilities
(C) Deferred Tax Liabilities (N[(:aat)

(D) Short Term Provisions

1209/(Set : B) %
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(17) 1209/(Set : B)

26. S T AT B TN HW & G ... gl 1

27.

28.

The formula to calculate Net Profit Ratio is
lq'I

CJ\I

“aiErer Rl & Ty A T e w PR § R ge a7 e o
e ? CE 1
(A) AEE B R W) oaw (B) =rq yREuRmEl § gia
(C) @R #I fosht X aify (D) oM Faar &

Which of the following should be added to Net Profit while calculating "Cash

from Operating Activities" ?  «n
o)

. e ,
(A) Gain on sale of machinery® (B) Increase in current assets

B21

(C) Loss on sale of furniture

Briefly explain any two limitations of Financial Statements. 2

i fageen @1 feeel @ diietl &l g8y § §9sEy

(D) Decrease in current liabilities

29, Fr=ifafaa waf &1 faega o & | - 3
() FAMT T
i) e w@ e (o) =
(i) ROT FHAT STUI §

Describe the following terms ir@etail :
(i) Working Capital
(ii) Return on Investment

(iii) Debt Equity Ratio

1209/(Set : B) ’%‘éjl MG,
A%
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(18) 3

g :
< gl i
-
i OR
o
m
RT T faRer & a9
() gl ollar I, ok
(i) Tl A ohwa g | / 3%
| B - TR
|
| ferazr = SRR -
‘ N
; ; 4,00,000
| gae A o o RAE
| 5,000
SRFE el - PrG00% . oum
sife Tefn $85,000°0 /i
T | fenl @ @FMd T 25%
From the given details, find out :
(i) Inventory Turnover Ratio, and
(i) Average Age of Inventory
{ i
Particulars
—‘__‘———-——-—_A_r_*nf)unt s o
. Revenuc from Operations 7
:._ - < _——_‘__‘__—“—;4—,—()—(.)_’_9__99_____*_————'/
Opcning Inventory O . |
- C‘) ___—____\—E,—O_O_O_______//'
Closing Inventory ™
' m e’ REOO00
Gross Profit
—= ——25% on Cost of Revenue
1209/(Set : B) oo
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(19) 1209/(Set : B)
30. & T ST F SR w3 Frdyr s RRRE A T e B T 5
B =
2 2
AL (01.04.2016) §,§ 50,000
A (31.03.2017) 60,000
iﬁﬁa THEEH (01.04.2016) 15,000
| SR TeIEE (31.03.2017) L 25,000
[=)}

aé%%m@mﬁﬁﬁiﬁaﬁm?zsoooﬁmaﬁalﬁsm?15000ma@r

$13,000 7 =1 T )

Calculate cash flow from Investing Activities on the basis of given information :

4
|
Machinery (01.04.2016) 50,000
Machinery (31.03.2017) 60,000
Accumulated Depreciation (01.04.2016) o 15,000
o)
<
Accumulated Depreciation (31.03.2017) - 25,000
N

During the year, a machine costing ¥ 25,000 with accumulated depreciation of

T 15,000 was sold for ¥ 13,.000.

1209/(Set : B)
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(20) ( B)

<ft

Jgdqr o

>

OR ;\j
mwammawmﬁﬁ(mmmwﬁaﬁmm
TR R 5

i) e TRk %

() PR TR o

Mention the major sources and applications of Cash (Cash inflows and Outflows)
from :

(1) Financing Activities

(i1) Investing Activities

qT - |

PART - C [M.M.: 15

(Fede wEiE)

(Computerized Accounting)

23. z@ 93 F @ oo & pRE & IGART o S R 7 :

PMT (C10/12, C8, C9, 1) =

(A) dfFE (B) ﬁ%ﬁug

() g (D) wifereRE

What category of functions is used in this foftnula ?

PMT (C10/12, C8, C9, 1)
(A) Logical (B) Financial

(C) Payment (D) Statistical

Download from www.MsEducationTv.com
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